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PART A

(5 x 6=30)
Answer any FIVE questions

1. Find the Least common multiple of 16,24,36 and 54
16,24,36

wBmh 24 oA aaisEpoHETE IFHD QLTS DL EIG STeis

2. Find the value of (i) (1.99)* (ii) 12.28 x 1.5 — 36 + 2.4
() (1.99)% (i) 12.28 % 1.5 — 36 = 24-a51 wHIOUS HTERISD

3.fa:5=b:7=c:5 thenflndEH’Jrc

g:3=b:7 =c:8  eefed E+z+r - BHTUI..

4. A train travels at the speed of 82.6 km/hr. How many meters will it
travel in 15 minutes ?

@ QT Teuemng 82.6 &8 / wenll GousdiHded GFOHBGHI. 6reiled
15 POLSHe0  ereleuena] WLLT HMID OFSMS(HBESLD.?

5. Difference of two number is 1660.If 7.5% of one number is equal

to 12.5% of the other number, find the two numbers

B eremiBEhHBTOT AlHHWLTFD 1660 e elewienien 7.5%
LoBEBTH eewtenies 12.5% Fwone Bme@ Curg Seuaim
616006061 SBITEII.
6. a) Find the Highest common factor of 42,63 and 140
42,63

Buid 140-8e1 BUIGLIH QUTH 6UEG 6160 HTewIH
b) Show that 541326 is divisible by 3

341326 ,3-60 au@LUUGBLD eTedid HmeuwiLil..
7. Find the missing value of x :

() 42 +3 +x+7-—13—

(ii) 4368 + 2158 — 596 — x = 3421 + 1262

£Lp£56mmumgﬁa> x —6il " DFILIeMLIS  HT6HIs.
(i) 43 +3 +x+7-—13—

(ii) 4368 + 2158 — 506 — x = 3421 + 1262,



Le3TeU(HEUGITOUBENN  BT6mTH.
(1) 49 B@ID 126@ HTESTD NS BTFFTIID
(il) 16 @BE@ID 366G PSBTD eIEHTFFTID
(iii) 0.08 w@Bu@Id 0.18 @ewt_Buwiueiten Fymafl eldsTFFTIID

8. 3 men and 4 women can earn Rs.3780 in 7 days.11 men and 13
women can earn Rs.15040 in 8 days. How many days will it take 7
men and 9 women to earn Rs.12400.

3 oemisel BmId 4 Cuenisel Gaipbadl 7 BT &eiled em.3780wD

11 syewisel BmID 13 Cueniser Gaihgkl 8 BT &M (h.150401D 12. A and B can do a piece of work in 9 days,B and € candoitin 12

FIOLITH S B OBTTHET 6160160 7 SLeWIH6T OBMID 9 Guewider GF bl

H.12400 GUMB eTeleueNa] BT &6 TBHFH OBTeTeUTTH6NT?

PART B (2 x 10=20)

Answer any TWO questions.

9. Simplify (i) (387 x 387 + 113 X 113 + 2 X 387 X 113).

(i) (983 x 207 — 983 x 107)

(iii) (475 % 475 + 125 X 125)
. | (B93+736)%-(893-786)2
(iv) 893 786

F(HHGHP:
(i) (397 =387 + 113 = 113 + 2 x 387 x 113),
(ii) (983 x 207 — 983 x 107)
(iii) (475 x 475 + 125 = 125)
i(se3+726) *—(893-788) 2
(v B93 X726

10. (i) If 4x + 5y = 83 and = = — then find the value of y — x.

2X 1 then find the value of x.

i) If

(i 14—
1+Fr

, 7 :

() 4x+ 5y =283 wByibd £=E GI&dN60 , Y — X -6t

vV

A IHLSH  HT6U0T.

2x . . . . .
(i) I 1 aafev, x- &1 WHINLS SHTEwHsS.
X

14—
1—x

11. Find (i) the fourth proportional to 4,9,12.
(ii) the third proportional to 16 and 36.
(iii) the mean proportional between 0.08 and 0.18.

days and 4 and € can do it in 18 days. In how many days will 4, B
and C finish it,working together and separately ?

@ Gouemevenws A wppib B 9 prlsefled B wmpid C 12
BTl seiled A wipd C 18 mr sefled GFuig
wysdeamriser. A, B wppi C Qenembgl LoBEID
SHONSHHANLTE QFUISHTED 6THHemenm BT H6iled Db
Gauemevenul QFUIHI (PI9SHS (LPIQUILD?

13. (i) A man’s present age is two-fifths of the age of his mother. After
8 years,he will be one-half of the age of his mother.How old is

the mother at present ?
(ii) The price of a T.V. set inclusive of sales tax of 9 % is

Rs.13407.Find its marked price.

(i) @T welpeaiar sBCUTMHW gk Sjeufler SHTwimfler euuigled
MhHHeL BTewi(B WLEIG. 8 UBLEISEHDHSG LIBG Sleufer euuwig
STwmfler auwIFHed BT6mngsd @(hH LLEIG 61660 SieUTH
srwmfler SBOUTMHW U] 6T6T6?

(i) @ OxTemevdsr d QUL Ul almed DiHaT albLeeT e
9 wb Cardhad p.13407 erafled SiHeT GHMIHBUILIL L
allemeuenlid BTN,




